Math 173 - Quiz 2 Name (<€3
January 24, 2019 Score

Show all work to receive full credit. Supply explanations when necessary.
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2. (2 points) Determine the angle between the vectors @ = i1+ 2j— 4k and 7 = 21— 6 7+ 5k.
Write your answer in degrees, rounded to the nearest hundredth.
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3. (1 point) Find the values of z for which @ = zi + j — 3k and b = zi + 2 + zk are

‘orthogonal.
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4. (1 point) Determine the angle between the diagonal of a cube and the diagonal of one
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of its faces.
(03\3\3 - _ A ..._—.:‘ =
L\)\)\) M.'d‘\'\ﬂ \V“ \13 \[—3— 1z

= \ -1
W '\ b= Cos ( NG | e
ST s

(0,0,0)
5. (1 pomt) Find a unit vector that is orthogonal to both ¥ = 7 ;
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6. (1 point) Find tﬁe projection of b onto @ when @ = 37 — j- 2k and b = 47 + 27+ k.
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8. (1 point) Find the area of the triangle determined by the vectors 4. =7 + 7 + + 2k and
7= 2i+ 2j — 5k. A ‘
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